[y

| - RS

2.1
2.2

23

24

25

CHAPTER 2
DISASSEMBLY AND REASSEMBLY

CONTENTS
Precautions for disassembly and reassembly ...
Disassembly and reassembly of the main unit..............ccceviiiiininnn,
221 Optional cover and UPPEr Case..........ccvvvvininiririnirecirennenrneeens
222  QIOGMS DOAr....coveviireiiiiiecrceviresrtrecerer e snaeeessessseressresanesees
223  QTOSYMDOGIU......ci it eae s ressee e seeneaes s
224 Q10PS board (Power supply Unit)........cccceevirverererinneerneneceenssnnenes.
225  FDD(SD-32T)UNIt coeiiiiiieiinircircr e seessassncans

228  POWEE LMD ..ot ssssaeesasesenesenaes

Disassembly and reassembly of CRT (green

IMONILOT UML) e eeiieiee et errer e e srtr e e e e s s e s sta s e b e s e a e s ns s sannaa e
. 231 COVET eeeeeieeeettee e e esttte e e ebareeesbreee s srenesesnaeeserastaeesebbsaessabasaeseanes
2.3.2  CRT et eccteercernre e sve e en e es reeerreeieeee it e erreraraenares
233 Board (CRT drive unit).................. et rreeereeeeearatreeeearaarnrrareaeraean

Disassembly and reassembly of the

241 OV e cereereerer bttt it saseesteans s ssesernentasnaresesernesasnraaasesraneasansnss

2.4.2 Replacement of key switches and

LED 1amps ...cceeveereneenne S50 SRS
SD-3271 MECRBMISIT ..covrrrerveveereeerereeerisosssiseesaeesseossssssesssssssssssssssss e sensces
25.1 MaEin DOArd SOt ..ccociiiieeiiiiirie e errrirre e
25.2 Voice coil motor unit (VCM unit) .c..ccceeveriniiiicninnnninneeen e,

253 Sub-frame, collet set, collet lever

aNd PAA AFM c.oeeecice i
254 Front Panel ...cccccoveencreniini it e
255  Disk guide (L) unit, write protector set

and eject transmission 1evel ...
256 Disk drive motorand endless belt............c.ccccovvvnnnniniinn
25.7 Disk guide (R), idler set and disk drive

PUEY SBL .t
258 INdeX deteCtor A SBL.....ceiveieiiiiriiee et
259 Index detector B Set......c.cccvcvereiircirieir e
2510 EjectIock 18VEr S8t ......coiiiviiciirs



http://www.fastio.com/

2.1 Precautions for disassembly and reassembly

. Before disassembling or reassembling the QX-10, pay attention to the following.

1) Make sure the power switch is turned off.
Disconnect the AC cable from the AC inlet.

2) Disconnect the cables of the keyboard, CRT unit, etc. connected to the QX-10.

3) Power is charged in the electrolytic condenser in the power supply unit for a few minutes after
the power switch is turned off. So take care to avoid electric shock.

4) Take special care to keep the CRT unit away from cathode rays or the yoke coil.
If the anode cap is removed, it must be properly discharged with a resistor of about 10 MR inter-
posed between the cap and GND.

5) When a substrate using ICs such as a circuit board is handled, be sure to touch a grounded device
with your hands to discharge static electricity prior to handling.

6) Be sure to use the specified screws. (See Table 2-1)
7) Do not touch the contact surfaces of cdnnectors with bare hands.

8) When the Q10 SYM substrate is removed or transported, disconnect the battery connector CN12.

Abbreviations for screws and small parts

Abbrevia-

tion Name Rough Sketch

CS Cup screw

o
o

Ve .
CP Cross-recessed pan head machine screw m
- CB Cross-recessed head bind tapping screw (HIM

CPO Cross-recessed head C.P.screw (with outside toothed lock washer)

CcTB Cross-recessed head bind tappi‘ng screw

CTC Cross-recessed head cup tapping screw

CTBR Cross-recessed head Brajier head tapping screw

co Cross-recessed head oval counter sunk screw (D]M
‘HH Hexagon socket half-point set screw )
PW Plane washer

SW Spring washer

ow Outside toothed lock washer

CWwW Conical toothed tock washer

HN Hexagon nut

eleeielolllclClclClclel©)
g

DY

Tabie 2-1

2-1

ClibPDF - www .fastio.com



http://www.fastio.com/

2.2 Disassembly and reassembly of the main unit

2.

2.1 Optional cover and upper case

Disassembly procedure

Notes on disassembly

1. Remove two screws of the optional cover shown in
Fig. 2-1.

CB:M4 x12 x 4

2. Remove the connector cap A between the option
cover and lower case.

3. Remove two screw hole caps located in the right
end of the upper case top with a () screwdriver.

Fig. 2-1

® To replace connector cap A, first replace the op-
tional cover and then insert the iower part of con-
nector cap A into the groove of the lower case and
push the upper part.

Screw hole cap

ClibPDF -

¥
S
Upper case
L7
s
Fig 2-2
4. Remove the the four set screws of the upper case
shown in Fig. 2-3.
CS:M4 x12 x 4
5. Remove the two connectors shown in Fig.
2-4.(CN6 and CN7 on the Q10 SYM substrate) Upper case
/
/
Fig. 2-4
2-2

wyvw . fastio.com



http://www.fastio.com/

ClibPD

Disassembly procedure

Notes on disassembly

6. Note: Upper and lower cases are connected via the
grounding wire.
Lift the upper case by hand and remove it so that
the rear part come to the front, and put it in front of
the lower case.

7. Re;nove the screw on the right side of the
speaker of Q10 SYM board, and disconnect
the grounding wire.

CTC: M3x12 x 1

© Carry out above procedure in reverse for
reassembly.

® The CN6 us 1 Upper case lock type, and should be
removed by opening left and right levers.

® When replacing, make sure the cables of CN7 and
CN7 are not trapped by the case or Q10 GMS
board. '

L.ower
case

5 founding
wire

. Fig. 2-6

® When replacing, make sure the cables of CN7 and
CN7 are not trapped by the case or Q10 GMS
board.

Fig. 2-7

© The tightening torque is 5 kg-cm.

www . fastio.com

2-3



http://www.fastio.com/

a

ClibPD

2.2.2 Q10 GMS board

Disassembly procedure

Notes on disassembly

1. Remove the upper case referring to 2.2.1.

2. Remove screws No. 1 ~ 4 shown in drawing on

the right.
CTB: M3x10 x1
CPO: M3x8 x3

3. Hold the Q10 GMS board by both hand and lift it
straight up. Then the connector on the right of the
screw 1 shown in Fig. 2-8 comes off.

4. Remove grounding plate C and shielding plate at-
tached to the Q10 GMS board.

s

CPO '
 Grounding plate C
/ or shielding plate
— .
[

X

< L
O —unN
Fig. 2-9

@ Carry out above procedure in reverse for reassem-
bly.

CPO: M3x8 x3
OW: M3 x3
HN: M3 x3
/ﬁ

Before handling the board, be sure to discharge the
static electricity from your body.

To replace the board, set connectors CN9 and

CN10 correctly and securely in the Q10 SYM
board.

When replacing the board, pay attention to the dir-
ection of grounding plate C.

Note: When a defective Q10 GMS board is re-
placed, grounding plate C and shielding plate are
not included in spare parts.

The tightening torque of screw 1 shown in Fig. 2-8
is 5 kg-cm.

www . fastio.com



http://www.fastio.com/

2.2.3 Q10 SYM board

Disassembly procedure Notes on disassembly

1. Remove the upper case and Q10 GMS board refer-
ringto 2.2.1 and 2.2.2.

Q10 SYM BOARD

Front
2. Remove the four screws indicated by arrow Fig. 2-10
marks in the drawing on the right. .
CTB: M3x10 x4 @ The tightening torque of the screws is 5 kg-m.

3. Remove the connector on the Q10 SYM board.
- CN8 - Power supply

CN13 - FAN

CN12 - Battery Note: The connector for connection between
CN12 and battery must also be removed when the
board itself is transported to prevent shorting of

the battery
4. Remove the board by opening the claws provided
on the left and right sides of the board.
. b
5. Take off the board. g ® Before holding the board, be sure to discharge the

static electricity from your body.
© Take off the board lifting the front side first.
® Toreplace it, insert the rear side first.
@ Carry out above procedure in reverse for reassem-
bly.

2-5
ClibPD www . fastio.com


http://www.fastio.com/

2.2.4 Q10PS board (Power supply unit)

Disassembly procedure

Notes on disassembly

1. Remove the upper case according to 2.2.1.

2. Disconnect the AC input connector CN1 and the
connector connected to CN8 of the Q10 SYM
board.

3. Remove the four screws shown in the drawing on
the right. .
CS: M4 x8 x4
OW:M4 x4

4. Remove the grounding plate.

Fig. 2-11

® To replace the grounding plate, pay attention to the
direction (with the tooth tip facing up and left).

@ In the part A shown in Fig. 2-11, attach screws,
grounding wire press terminal and toothed washer
in that order.

ClibPD

www . fastio.com

. . e
5. Lift the power supply unit and take it off. *
Ccs
Grounding terminal
oW —=
L
Fig. 2-12
@ When a defective power supply unit is replaced, in-
sulating paper A shown in Fig. 2-11 is not included
in spare parts.
® Carry out above procedure in reverse for reassem-
' bly.
2-6


http://www.fastio.com/

ClibPDF -

2.2.5 FDD (SD-321) unit

Disassembly procedure

Notes on disassembly

1. Remove the upper case according to 2.2.1.

2. Remove screws A,B and C or D,E and F (FDD-A/B
side) shown in Fig. 2-13

CPO: M4 x8 x5

(Screws B ~ Fin Fig. 2-13)
M4x8 x1

M4 x 1

{Screw A in Fig. 2-13)

CS:
ow:

3. Removs the two connectors of FDD.

4. Pull out the FDD in the directipn of the arrow #
shown in Fig. 2-13 {case front sida). -

5 1t 1
A J _Bjp E

]
Grounding

plate B

Fig. 2-13
® The lead of the grounding wire of screw A should
be attached in the direction shown in Fig.2-13

@ Grounding plate B is mounted like a wave.

® When a defective FDD is replaced, make secure
setting of the following DIP switch and mounting
of the terminator.

, FDD-A FDD-B
® Carry out above procedure in reverse for reassem-
bly.
Jdo UosIvy 440 Uosivyd
| ittt 1
] |
| | g
[ J
NO NO ) NO
Only 1TON  Without Only20ON  With
| terminator terminator
Fig. 2-14
2-7
www fastio.com



http://www.fastio.com/

2.2.6 Powerlamp

Disassembly procedure Notes on disassembly

* Disassembly is necessary when the power lamp is
found to be defective.

1. Remove the upper case accordingto 2.2.1. POWER LAMP (LED)

t—Upper case
2. Remove the two screws indicated by arrows in Fig.
2.15. " Fig. 2-15
CTC:M3 x8 x 2
3. Remove the solder of A and K shown in Fig. 2-16, 5
and remove the LED lamp.
o
b
v LED ” J /TFLD BOARD
= 4]
BLACK A
K J
Fig. 2-16
4. The pole with the longer lead wire as shown in Fig.
2-17 is the anode of the LED lamp.
Insert the lamp into the TFLD board shown in Fig. LED LAMP
) 2-16 in the correct direction, ensuring close con-
tact.
A K
Fig. 217

5. Solder the lamp

6. Tighten the two screws mentioned in step 2.

ClibPD www . fastio.com 2-8


http://www.fastio.com/

ClibPD

2.3 Disassembly and reassembly of CRT (green monitor unit)

2.3.1 Cover

Disassembly procedure

Notes on disassembly

1. Set the unit with the CRT screen down.

2-18.

CTBR:M4 x16 x 4

3. Lift the cover.

@ Carry out above procedure in reverse for reassem-
bly.

2. Remove the four screws indicated by arrows in Fig.

© There are many high voltage parts in the green

monitor. Be careful not to touch them.

Cover

www . fastio.com

2-9



http://www.fastio.com/

2.3.2 CRT

Disassembly procedure Notes on disassembly

@ High voltage is applied to the CRT. Keep this in
mind and take care.

1. Discharge through a resistor of about 25MQin-
serted between the anode cap terminal and GND
(ground frame).

D.. Screw 2

Anode Cap

Ground Frame

Fig. 2-19

2. Disconnect the cable connectors (2) coming from

the DY {deflection yoke) shown in Fig. 2-19 from

the board.
3. Disconnect the grounding wire connector coming

from the middle of the wire which makes connec-

tion between the CRT fixing screws 2 and 3, from

the board.
4. Remove the socket shown in Fig. 2.19.
5. Remove four screws 1 ~ 4 shownin fig. 2-19. ® Screws 3 and 4 should be used as shown below.

CRT

CTC: M4 x116 x4

OW: M4 x2-

PW: M4x08x16 x2
@ Carry out above procedure in reverse for reassem- — {1 %

bly.

. \ cTC
ow
‘ Grounding
Case PW Terminal
Fig. 2-20
2-10

ClibPD www fastio.com


http://www.fastio.com/

ClibPD

2.3.3 Board (CRT drive unit)

Disassembly procedure

Notes on disassembly

1. Carry out steps 1 ~ 4 of 2.3.2.

2. Remove screws 1 ~ 4 shownin Fig. 2-21.

@ High voltage is applied to the board.
Keep in mind and take care.

www fastio.com



http://www.fastio.com/

2.4 Disassembly and reassembly of the keyboard unit
2.4.1 Cover

Disassembly procedure

Notes on disassembly

1. Set the unit with the key top down.

2. Remove the six screws shown in Fig. 2-21

CTC M4 x12 x 4

3. Remove upper and lower cases, and take off the
keyboard unit.

ClibPDF -

www . fastio.com


http://www.fastio.com/

ClibPD

2.4.2 Replacement of key switches and LED lamps

Disassembly procedure Notes on disassembly

* Replacement is necessary when the key switch
malfunctions.
Chack continuity using a circuit tester.

1. Remove all the the screws (cup and tapping
screws) on the soldered surface of the keyboard
unit.

2. Lift the unit straight up holding part{  } shownin
Fig. 2-23 with the key top up.

Fig. 2-23

3. Key switch
Desolder the defective key switch and replace it.

LED lamp
Desolder the defective LED and replace it.

® Carry out above procedure in reverse for reassem-
bly.

www fastio.com 2-13


http://www.fastio.com/

2.5 SD-321 mechanism
2.5.1 Main board set

Disassembly procedure Notes on disassembly

1) Remove the main board fixing screws.
(See Fig. 2-24)

A) Front panel CTC M2.5 x6

B) Disk guide RCTCM2.5 x6

C) Disk drive motor CSM2.5 x4
D) Radiator plate CS M2.5 x 25

2) Lift the main board so that it is almost parallel to
the main frame.

3) Disconnect the connector of the head lead wire.
{See Fig. 2-25))

VCM connector

Fig. 2-26

Motor connector

ClibPDF - www .fastio.com


http://www.fastio.com/

ClibPDF -

Disassembly procedure

Notes on disassembly

1} Check the head lead wire follows the specified
route. (Fig. 2-25)
and set the main board set.

3) Tighten the main board set fixing screws.
Tightening torque: 4.0 kg:m for A) ~ D)

2) Check each connector is in the correct position,

Note 1. Take care not to damage the terminal
when the connector is connected or dis-
connected.

Note 2. If the VCM connector does not coincide
with the main board connector, loosen the
VCM flexible lead plate fixing screw a lit-
tle, adjust the connectors and then re-
tighten the screw. (Fig. 2-26)

Note 3. Before tightening the main board fixing
screws, make sure that the head lead wire
is not trapped by the front panei.

Fig. 2-26

www . fastio.com



http://www.fastio.com/

2.5.2 Voice coil motor unit (VCM unit)

Disassembly procedure

Notes on disassembly

ClibPD

1) Take off the main board set. (See 2.5.1.)
2) Remove the clamp of the head lead wire.

3) Remove the VCM fixing screws and cross-recessed
head oval counter-sunk screw, and take off the
VCM unit from the main frame.

(Fig.2-28)

Base fixing screw

Cross-recessed head oval counter-sunk screw

Conical toothed look washer

VCM base
4

Fig. 2-28

® Insert insulating paper between upper and iower
heads.

Base fixing screw

Disk guide (R) ,

www . fastio.com

2-16



http://www.fastio.com/

ClibPD

Disassembiy procedure

Notes on disassembly

1) Set the VCM unit so that it fits in the guide hole of
the main frame.

2) Set the base fixing screw, VCM fixing screws, coni-
cal toothed lock washer and cross-recessed head
oval counter-sunk screw. Fix the VCM unit while
pushing it toward the disk guide (R) and rear side.
{Screw tightening togrque: 5.0 kg-cm)

3) Connect the head lead wire to the disk guide (R)
and the specified positions of the main board set.
(Figs. 2-25 and 2-26)

4) Mount the main board set. (Refer to 2.5.1)
(Fig. 2-28)

* Method of clamping the head lead wire to the disk
guide (R) Fig. 2-29 -

1. Set the head lead wire to the head lead wire clamp-

ing position of the disk guids (R).

Set the head lead wire as follows:

A) Move the VCM drive coil to track 00.

B) Set the upper head lead wire so that it touches
the front end of the clamp position wall of the
disk guide (R)

C) Hold the part making contact betwaen the vgsire
and wall with tweezers, move it to the rightof
the clamping position and set it in the clamping
position as it is.

D) Hook the lower head iead wire on the bent and
raised part of the slide axis holder B and bring it
to the disk guide (R) clamping position.

E} Set the wire in the clamping position with
tweezers so that the clearance between the
wire and the clamping position is about 2 mm.

Note 1. In the lower head holder and disk guide (R)

clamping position, upper and lower head
lead wires are upside down.

Note 2. The upper head lead wire crossed the

lower head lead wire from the front panel!
side.

2. Check sliding of the head lead wire.
1) The lead wire should not be over tightened in
track 00.
2) The lead wire should not come out of the slide
axis holder B in track 39.

3. Connect the head lead wire to the disk guide (R).
Route the head lead wire through the lead wire
guide provided on the disk guide (R).

»

© The base fixing spring should not incline beyond
the VCM base. (Fig. 2-27)

Disk guide (R)

Slide axis holder

www . fastio.com



http://www.fastio.com/

2.5.3 Sub-frame, collet set, collet lever and pad arm

Disassembly procedure

Notes on disassembly

1) Remove the main board set. (Refer t0 2.5.1)
2) Remove the slide lever spring.

3) Remove the sub-frame unit fixing screws.
(Fig. 2-30)
CSM2.5x19x 3

4) Remove the sub-frame unit from the main unit.

5) Remove the pad arm fixing screw from the sub-
frame unit, and pull the pad arm to the front {in the
direction of the arrow shown in Fig. 2-30). SF thin
M2x4({P0.25)x 1

6) Push the collet lever down until the collet set is dis-
engaged in arrow A direction from the collet guide
shaft. Move the collet set gently in arrow B direc-
tion shown in Fig. 2-31 and remove it from the col-
let lever.

7) Remove the E stopper ring of the collet lever shaft

and take off the shaft.
REETWJ-23 x 1

Slide lever spring

® Since the upper head arm is placed on the collet
bar arm, care should be taken not to drop the upper
head onto the lower head. »

E stopper ring

Collet set

Fig. 2-31

ClibPDF -

www . fastio.com


http://www.fastio.com/

— Disassembly procedure Notes on disassembly

1) Set the collet lever and collet lever spring in the ® Pay attention to the set of the collet lever spring
sub-frame, and fix the unit with the E stopper ring (Fig. 2-32).
through the collet lever shaft.

2) Rotate the collet lever and set the collet in the col-
let lever groove.

3) Adjust the collet center hole to the sub-frame guide
shaft, and set the collet in the sub-frame.

4) Check the collet rotation and collet lever operation.

5) Make sure the disk guide sleeves have been set in
the disk guide (L) and (R) units.

6) Set the sub-frame unit in the main unit, Push the
sub-frame unit backward toward the disk guide (L)
unit, and fix it with the sub-frame unit fixing

-~ screws.

{Screw tightening torque: 6.0 kg-cm)

7) Hook the slide lever spring between the sub-frame
and slide lever.

8) Mount the main board set. {Refer to 2.4.1)

»—(
— Collet lever spring _The spring end should be securely
/ positioned in the notch.

O
—~+—Sub-frame

L a9

(View of sub-frame unit seen from the bottom)

f

Fig. 2-32

ClibPD www . fastio.com


http://www.fastio.com/

ClibPDF -

2.5.4 Front panel

Disassembly procedure

Notes on disassembly

1) Remove the main board set. (Refer to 2.5.1)
2) Remove the front panel fixing screws, and take off
the front panel by pulling it to the front.
CSM25x4 x2

1) Set the front panel, and hook the lead wire of index
detector B on the front panel lead wire clamp.

2) Fix the front panel to the main unit with the front
panel fixing screws.
(Screw tightening torque: 4.0 kg-cm)

3) Mount the main board set. (Refer to 2.6.1)

@ The front panel should be taken off taking care that
it not caught by the lead wire of index detector B
located under the front panel lead wire clamp.

® insert the lead wire of the index detector B inside
the claws (2) of the lead wire clamp.
(Refer to Fig. 2-33)

www . fastio.com

2-20



http://www.fastio.com/

ClibPD

2.5.5 Disk guide (L) unit, write protect detector set and eject transmission level

Disassembly procedure ' Notes on disassembly

1) Remove the main board set (Refer to 2.5.1)
2) Remove the sub-frame unit. (Refer to 2.5.3)

3) Remove the front panel fixing screws and take off
. the front panel by pulling it to the front. (Refer to .
254)
CSM25x4 x2

4) Remove the disk guide (L) unit fixing screw, and
take off the disk guide (L) unit from the main unit. .

5) Remove the write protect detector fixing screw,
and take off the write protect detector from the
disk guide (L). )

6) Push the slide lever push buttonhook up, and re-
move the pushbutton.

Disk guide (L) unit fixing screw

'Digk guide sleeves

Pughbutton hook:
Disk guide (L) unit

Pushbutton

Write protect detector™ . é

Fig. 2-34

www . fastio.com 2-2


http://www.fastio.com/

Disassembly procedure Notes on disassembly

1) Lubricate the latch receiver of the disk guide (L).
g | ybricate

/ i

Latch

Fig. 2-35

2) Lubricate the part making contact between the sa- ’

fety lever add disk guide (L). .
Disk guide (L)

Lubricate

%% Safety

3) Lubricate the eject transmission lever bearing of
- the disk guide (L). :

Fig. 2-36

-

Lubricate

4) Push the pushbutton into the disk guide (L).

ClibPD www . fastio.com 2-22


http://www.fastio.com/

ClibPD

Disassembly procedure Notes on disassembly

5) Set the write protect detector board in the disk
guide(L) and fix it with screw.
{Screw tightening torque: 1.0 kg-cm)

Write protect detector board

Disk guide (L)

6) Route the cable connecting the index detector B
and write protect detector board pass under the
eject lock lever.

{Fig. 2-39)

7) Fix the disk guide (L) unit to the main unit with the @ Insert the cable connecting the write protect detec-
disk guide (L) unit fixing screws. tor board and index detector A into the groove of
(See A of Fig. 2-39.) . the disk guide (L) unit.

8) Mount the front panel. (Refer to 2.5.4)
9) Mount the sub-frame unit. (Refer to 2.5.3)

10) Mount the main board set. (Refer to 2.5.1)

2-23

www . fastio.com



http://www.fastio.com/

2.5.6 Disk drive motor and endle_ss belt

Disassembly procedure Notes on disassembly

1) Remove the main board set. (Refer to 2.5.1)
2) Remove the sub-frame unit. (Refer to 2.5.3)

3) Remove the disk drive motor fixing screws.
(Fig. 2-39)

CSM25x6 x2
4) Remove the slide shaft B holder fixing screw, and
take off the slide shaft B holder from the VCM
unit. (Fig. 2-40)

5) Remove the endless belt. Remove the disk drive
motor from the main unit.

6) Routs the cable connecting the index detector B ?
and write protect detector board pass under the ﬁ’ i
eject lock lever.
(Fig. 2-39) ' s o) =
il ]
o o

Disk drive motor

ClibPD www . fastio.com 2-24


http://www.fastio.com/

ClibPD

Disassembly procedure

Notes on disassembly

1)

2)

3)

4)
5)

6)

‘Note 2 Check the belt is not frayed or cracked.

Fix the disk motor with the disk drive mator fixing
screws. (Screw tightening torque: 5.0 kg-cm)

Mount the endless belt on the disk drive motor
pulley, idler bearing and disk drive pulley in that
order. (Fig. 2-42)

Fix the slide shaft B holder to the VCM unit with
the slide shaft B holder fixing screw.

Mount the sub-frame. (Refer to 2.5.3)
Mount the main board set. (Refer to 2.5.1)
Check the disk speed. (Refer to 3.4.2)

Note 1. Check the disk rotates smoothly without
generating abnormal noise. -

Disk drive motor

Disk drive pulley

Fig. 2-42

2-25

www . fastio.com



http://www.fastio.com/

2.5.7 Disk guide (R), idler set and disk drive pulley set

S

Disassembly procedure

Notes on disassembly

ClibPD

1)
2)
3)

4)

5)

6)

7)

Remove the main board set. (Refer to 2.5.1)
Remove the sub-frame unit. (Refer to 2.5.3)
Remove the endless baelt.

Remove the idler fixing screw. Remove the flat
washer and idler bearing. (Fig. 2-43)

CP:M3x7 x1

Remove the disk guide sleeve from the disk guide
(R).

Remove the disk guide (R) fixing screws. (Fig.
2-44)

CS:M25x8 x2

Remove the disk drive pulley screw. Remove the
disk drive puiley set.

¢
g o

>

Fig. 2-43

www . fastio.com

2-26



http://www.fastio.com/

ClibPDF -

Resassembly procedure

Notes on resassembly

1)

2)

3)

4)

6)

7)

8)

9)

Make sure the flat washer has been set in the disk
drive pulley shaft. Put the disk drive pulley set on
the pulley shaft by mounting it downward on the
shaft.

Tighten the disk drive pulley and fix it with a
screw.

{Screw tightening torque: 5.0 kg-cm)

Rotate the disk drive pulley 2 ~ 3 times to make
sure it rotates smoothly without abnormal noise
or uneveness.

Set the disk guide (R) and disk guide pulley.
Tighten the disk guide (R) fixing screws.

(Screw tightening torque: 3.5 kg-cm)

Mount the endless belt. (Refer to 2.5.6)

Mount the sub-frame unit. (Refer to 2.5.3)

Mount the main board set (Refer to 2.5.1)

Check the disk speed. (Refer t0 3.4.2)

RACK"

oot

Fig. 2-4b

Disk drive pulley

www . fastio.com

2-27



http://www.fastio.com/

2.5.8 Index detector A set

Disassembly procedure Notes on disassembly

1) Remove the main board set. (Refer to 2.5.1)
2) Remove the index detector A set fixing screw.
(Fig. 3-23)
CP:M25x4 x1
3) Remove the sub-frame unit (Refer to 2.5.3)
4) Remove the front panel. (Refer to 2.5.4)

5) Remove the disk guide (L) unit. (Refer to 2.5.5)

6) Remove the write protect detector. (Refer to
2.5.5)

7) Desolder the cable of the index detector A set
from the write protect detector board.

Index detector A

Fig. 2-46

ClibPD

www fastio.com 2-28



http://www.fastio.com/

. Resassembly procedure Notes on resassembly

1) Solder the cable of index dstector A to the write ©® Solder the black wire of the cable to “B”.
protect detector board.

2) Carry out disassembly procedure in reverse.
3) Fix the index detector A set temporarily to the
sub-frame with the index detector A set fixing

screw.

4) Route the lead wire of the index detector through
the specified circuit. (Fig. 2.47)

5) Mount the main board set. (Refer to 2.5.1) .

6) Adjust the index. (Refer to 3.4.5)

@:’ «— Lead wire connacted

Fig. 2-47

2-29
ClibPD www . fastio.com


http://www.fastio.com/

2.5.9 Index detector B set

Disassembly procedure

Notes on disassembly

1) Remove the main board set. (Refer to 1.5.1)
2) Remove the sub-frame unit. (Refer to 2.5.3)
3) Remove the index detector B fixing screw
(Fig. 3-25)
CP:M25x8 x 1
4) Remove the front panel. (Refer to 2.5.4)

5) Remove the disk guide (L) unit. (Refer to 2.5.5)

6) Remove the write protect detector.
{(Refer to 2.5.5)

7) Desolder the cable of the index detector B set
from the write protect detector board.

Index detector B

Fig. 2-48

ClibPD

www . fastio.com

2-30



http://www.fastio.com/

Resassembly procedure Notes on resassembly

1) Solder the cable of index detector B to the write ® Solder the red wire of the cable to “R” and white
protect detector board. wire to “W",

2) Fix the index detector B set to the main unit with
the index detector B set fixing screws.

(Screw tightening torque: 3.5 kg-cm)

3) Route the lead wire of the index detector B through
the specified circuit.

4) Mount the disk guide (L) unit. (Refer to 2.5.5)
5) Mount the front panel. (Refer to 2.5.4)

6) Mount the sub-frame unit. (Refer to 2.5.3)

7) Mount the main board set. (Refer to 2.5.1)
8) Adjusvt the index. (Refer to 3.4.2)

9) Eject lock lever set

2-31
ClibPD www . fastio.com


http://www.fastio.com/

2.5.10 Ejectlock lever set

Disassembly procedure

Notes on disassembly

1) Remove the main board set. (Refer to 2.5.1)

2) Remove the sub-frame unit. (Refer to 2.5.3)

3) Remove the front panel. {(Refer to 2.5.4)

4) Remove the disif guide (L) unit. (Refer to 2.5.5)

5) Remove the ejector spring.

6) Loosen and remove the E stopper ring of the disk

drive pulley side of the eject lock lever.
RE: ETWJ-23 x1

Resassembly procedure

Notes on resassembly

ClibPD

1) Set the eject lock lever set in the main unit. Insert
the eject lock lever shaft from the disk guilde (L)
unit and fix it with the E stopper ring.

2) Hook the eject spring betwaen the ejectbr and
main unit.

3) Mount the disk guide (L} unit (Refer to 2.5.5)
4) Mount the front panel (Refer to 2.5.4)
5) Mount the sub-frame unit. {Refer to 2.5.3)

6) Mount the main board set. {Refer to 2.5.1)

©® Check the eject lock lever spring is attached to the
eject lock lever set.

www . fastio.com

2-32



http://www.fastio.com/

	./tm2_2-00.tif
	./tm2_2-01.tif
	./tm2_2-02.tif
	./tm2_2-03.tif
	./tm2_2-04.tif
	./tm2_2-05.tif
	./tm2_2-06.tif
	./tm2_2-07.tif
	./tm2_2-08.tif
	./tm2_2-09.tif
	./tm2_2-10.tif
	./tm2_2-11.tif
	./tm2_2-12.tif
	./tm2_2-13.tif
	./tm2_2-14.tif
	./tm2_2-15.tif
	./tm2_2-16.tif
	./tm2_2-17.tif
	./tm2_2-18.tif
	./tm2_2-19.tif
	./tm2_2-20.tif
	./tm2_2-21.tif
	./tm2_2-22.tif
	./tm2_2-23.tif
	./tm2_2-24.tif
	./tm2_2-25.tif
	./tm2_2-26.tif
	./tm2_2-27.tif
	./tm2_2-28.tif
	./tm2_2-29.tif
	./tm2_2-30.tif
	./tm2_2-31.tif
	./tm2_2-32.tif

